
EGC442
Class Notes 
2/10/2023

Baback Izadi
Division of Engineering Programs
bai@engr.newpaltz.edu





Assume $s3 has 5000, and words addressed 5000..5002 have the data shown:
5000: 99
5001: 77
5002: 323

1) What address will be computed by:
lw $t0, 2($s3)

2)   What value will be put in $t0 by:
lw $t0, 0($s3)

3)    What value will be put in $t1 by:
lw $t1, 2($s3)

4)    Assume $s2 has 5001. What value will be put in $t2 by:
lw $t2, 1($s2)











•If $s3 has 900, $t0 has 77, and memory locations 900, 904, and 908 have 10, 15, 
20 respectively, what do those locations have after the following instruction?

sw $t0, 4($s3)



23) Which MIPS instruction does the following represent?


